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Mergers, Acquisitions ag&n_@ﬁorporate Restructuring
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Time: 3 hrs. Max. Marks:100

50, will be treated as malpractice.

1  What is Bootstrap gamf>‘7\ \\ . (03 Marks)

2 Explain Demerger v\\; | (03 Marks)
‘ f 3 Explain Hubrw \I:\*i\\;};o/the51s of corporate takeovers. (03 Marks)

4 Mention Ysoﬁe; s Five Forces. (03 Marks);

‘Describe tender offer. How it differs from open market purchase of stock? (03 Marks)

SECTION -B
Note : Answer any FOUR questions from Q. No.l t{)\Q \No

, appeal to evaluator‘andf?’or equations written eg, 42+8

1 Explain the different types of merger. (07 Marks)
2 Explain BCG matrix and its importance. (07 Marks)
3 What is MLP? Explain its types. (07 Marks)
' 4 Discuss five stage model of merger process. A (07 Marks)
5 What is meant by ‘synergy’ of a merger? Expld“ \“i;s‘\iypes (07 Marks)

6 Differentiate between Pooling of Interest meﬂmd and Purchase method of Accounting. (07 Marks)

2. Any revealing of identification.

Important Note : 1. On completing your answers, compulsorily drawAd ‘gonal cross lines on the remaining blank pages.

7 (07 Marks)
1 (10 Marks)
2 (10 Marks)
3 (10 Marks)

1 of2




14MBAFM407

Explain various takeover defenses available to target{eo\f\;\afkﬁ/y (10 Marks)
What common mistakes do companies make dur: é%& A transaction? (10 Marks)
Discuss the legal process relating to approva< t/‘\%erg’er (10 Marks)
Explain managerial challenges in merge(é an acqulsmons (10 Marks)

\QQ\ SECTION D
?A STUDY — [ Compulsory |

The H Ltd wants to acqm‘e{l“ L}d The balance sheet of T Ltd as on March 31 (current year) has
the following assets and- Llabliltles

Liabilities §> Amt Assets Amt
O~ (Rs. in lakh) (Rs. in lakh)
Equity share. chbﬁéf 400 Cash 10
(4 lakh shgré\gbf“ Rs.100 each) Debtors 65
Retamet’i\éﬁ ings 100 Inventories 135 A
10. 0% dbentures 200 Plant & Equipment 650 2
Cre 1t3)rs and other liabilities 160 0 &
X® 860 860 R
0 (‘wAt‘a“Ehtlonal information: 0\ )

’’’’’

&5 -\ = ’i) The shareholders of ‘T’ Ltd, will get 1.5 share in ‘H’ Ltd, for every 2 shares Ihe}sfares of

,> the ‘“H’ Ltd would be issued at its current market price of Rs.180 per share. f[\c debenture

holders will get 11% debentures of the same amount. The externai llabllme*sxgre expected to

be settled at Rs.150 lakh. Dissolution expenses of Rs.15 lakh are to ¢t by the acquiring
company. 3

i) The following are projected incremental free cash flows (FCF/F)\%Q(p,ected from acquisition

for 6 years (Rs. in lakh): ‘ (ﬂ\\\ N
Yearend 1 | Rs.150 AN
2 | Rs.200 NN
3 | Rs.260 .
4 | Rs.300 g;\f“?\:s
5 | Rs.220 A
6 | Rs.120 A\

iii) The free cash flow of ‘T’ Ltd is expected@ rﬁ\\bv at 3% per annum, after 6 years.

iv) Given the risk complexion of ‘T’ Lt% \st of capital relevant for “T” Ltd, cost of capital
relevant for ‘T’ Ltd cash flows has.be demded @ 13%.

v) There is unrecorded liability of R/ fakh.

Advise the company regarding ﬁnahcm feasibility of the acquisition.

Note: PV @ 13% N\
6\}

1=0.885, 2=0783, ‘3=000%" 4=0. 613, 5=0.543, 6=0.480. (20 Marks)
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